Solving the DP

e Stage 4 computations — boundary conditions:

f,(0)=0 fwr n=01,2,3

e Stage 3 computations:
K2 10 13
f3) = mif\{S"’ 203+10) + £3,0), 5+2@D+1(1) + £,0), 5+20) +l(z)+3f‘,(z)_§ = 7
9 12
f(2) = mm{ 5+20+1(0) + qu(o)) 5+2) +1()) +Jf,,(|)§ =9

f(1) = m.~n{s+ z(z)+l[o)+3f,,(o)}= I =3

f3(0) = ~+ oo
e Stage 2 computations:

12 18 11

£(3) = min{l(i) +3C3(|)) 5‘+2(|)+|(z)+3C3(z)) §+2(2)+1(3) +£(3)3 =2
+0° I 2

@)= minfI0+5,6), 520 T10+£0), SRONEG LG, S+ 19 +50} = 19
+oo al 22

L) = mm{S*r:z(l)H(o)»rJf,(o), S+ 2@)+ 103+ £, 5»«,?(3)+1[z)+f3(z)} = 9|

+oo 23
£(0) = Min{SJ—'Z(Z)i—l@))i':g(o)/ S+22)+ l(:)+§3(0‘§ = 92 x, =3

e Stage 1 computations — desired cost-to-go function:

30 3l 32
fl(o) = m{n{5+ 200 +1(0) +£(a)) 5+202)+ [(1)4-362(1)/ S5+2()+ ](2).;.3('2(2)% = 2o X, =|
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